HEN B F E SR E AR

—., EAEE
T4 |TRIAAR AR | BRI |8 HE B
R (2022, 11. 1 e A LG 577 61808888
T G ¥
i 40% J G RS9y <2597 %, WNDEASEG KAL)
| 30% QAR
AR, e S ok )t 8143 LA I
i 30% KWy s BB IREZEAKRBIL: 61-80757;
M55 2. ANliE: 604X,

= BT

L. i

R =1 GIER R 2k 0t/ Ml 2 1> 1 40=_bo 43

(2. A

H/}U(ﬁﬂL%%%UWU%M%}M)DGOEiﬁ

3. Rgas=22 4

4 N /l“l_TlJl‘ ?’%ﬁ:ﬂﬁ

=, EAY

A 8541 LA I AR A PENI RS, oK R
B 70-84%) NERAEN T, W) IE SR
C 60-694) PRGNS, AE T 00 AN R S I ] A8
D <604y ARG R, A AL 76 44 B b I
Wﬁi\ﬁ”ﬂmm =3 %é&y‘j /Xé&o
A 3 8 R I 44 2
| OB PSR 44 H R R
R | B A dosyllt] g s




PENL R R S H R

—\ EAFE

T 4% iﬁggﬁgﬁﬁiiﬁwﬁ%m%lﬁﬁﬁwm&r & FIRIABS PC/ABS
EAHW (2022, 11,1 IR A 13777742275
G

FERWH |5 AT |
Jifi & 40% Joi A 8 A 9 <2697, A NDYAG KAL)
&l 30% RIS
LR, e SO il e eyt 8143 LA I
55 30% K S BB IRFAKENL: 61-8057;
M55 25 ARG : 6043 LLAR,
N (S

1w S=0- Gl R ek L e/ el ) 1 x 4038354

0 SEHERA=[1- GREREIY  He/ Bt 0 1) 1x30=30_ 4

3. Wi 1449=22 )

T A

=\ E

A 8541 LA I

N PERER T KSR

B 70-84%) NERAEEN R, ] R
C 60-694) 115 965 M AL N AL 1 AHE N P JS2 Bk i) At 5
D <604 NG RSN, AL N S 4% 5 I 55

PN R SR G B VESE RN Ny B

M%ﬁ%Aé%ﬁ&%%%;

OO MAHis B 7 i 42 P IR

R AT -

VRi%e

22PN

JSEiip




LI 7 4 B BB AR

= HEAEE

LB EAS
TR AN PR A SR 201. 304, 316LAVEEMNEL M
B4 A
EHHW 12022, 12. 1 A& LU 13473200735
B
HRIH |y BRI (8T
Ji bt 40% JRASHES | S> <2590, MADYA AR LR B
AZ Y] 30% K 8
AJERRR,  RE SN R 1) i 8143 LA I
JIR 55 30% KIS ISR RS A KB 61-8047;
M55 2% ARG 6043 LR,
N G
L R =1 GERR s s/ kiiesf i 1x 403546y

0. AWIEA=[1- GRG0 e/ bkbiesnd HE) 1X30=30 4

3. W mn=2) 4

4. apsr=90%0 4

YIS

NG g N 2R R 404
G

=. W%
A 8571 LA L NIEFFPENLR, w IR SR i
B 70-847) A AN, 0] IR R
C 60-6975) DA E A AERIRG, E 5 17 fAb AL g e 1
D <60%> ISR, A A% AR 7 44 2 IH R
GRS PSRN 1y

KIS AT

A

CL§
N
A yon)
rH

&2

7/9))-\ l)\ l




PN R E BB R

—. HAEFE

L) &8 | IEZR T AL TR | BT g . B3I
FAZE 2022, 12. 1 e 2 Ll 0577-61789119
TG
ZZOH SR E NGB v
i 40% J A8 JREAS 7 <2547, AW ADZASG B AL W 7
< 30% PR
SRR, RESI ik o) . 8143 LA
e 5% 30% Ak B REAKRBIGL: 61-804);
% /an. 601}””\7“0

L R 0- G et Lt e s 1xao=2 s

2. AHHEA=[1- GIERHENY  HE/ SR Ge #) 1x30=32 5}

3. s =Y 9 4y

4. =45 »

=L A%

A 8541 LA I RNARTEHEN R, ] oK SR )

B 70-84%y NERSHEN R, AT IEH R
C 60-69% PRGN B, AH T ) AR 8 R Js I i) fit
D <604y NGRS , ARSI B 44 B e H 552

G RGBS fy %
Yk B8N W L 7 45
O3 Mg AL %2 i 42 2 e 55

B
k\_\?’g
e

RIS AT %02 12 |

%6 P




